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1) 28 %= (2.39) ¢ [B%] wuw  [IE] Qua
2) 32— (251) @317 [] A, =0 [IE] B, =0
3) 73— (4.103) + [ER] H,  [ik] Hy
4) 85 X—=, (5.35) 247H + [@4] Fpo From  [IE] F) From
5) 91— 5 217H ¢ [BR] (5.62) 0 [IE] (5.63) D
6) 93 =2, (5.70) :

[3%] —iFuupF’“‘”’)+ie ¢t (F,, F*)

12 2¢?
[1F] 1126FWPF””’) + 2;2 ee” % tr (F,, F")

) 105 %=, (6.40) = [ER] Aas, Ays  [1E] Bag, Bys
) 112 =2 517H ¢ [##] eP-VUme  [IE] e@-Dmy
9) 119 XR— (7.23): [#&] A*F  [IE] B*?
) 136 X—2, (8.18) : [ER] Z7FciEHI  [1E] Leibniz I
) 139 R—%, (8.37) :
(4] DR=dR+[w,R]=0 [[E] DR=dR+wAR—-RAw=0

12) 167 =, (B.19), 2{THREDIHE :
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